© HEINRICH KIPP WERK GmbH & Co. KG

(]
] A L
2|2 A8 S2AE] ofd3 £&F 0| =
MO
=
HE My
RISl E2ixis S0 Hlo2 Qs B3 9t Hates 22 WxIsHo}
ste 2ol ASELICH MM EEE 2522 Ho{okat OHE &3 9Ixl

2 0|S® = &Lt
ZAZto 24X &2 £ E0{0F 5t &3 EIO| BHS S YXIsH0F st=
deol= Bt C E= Bt DE AM&3HoF ELich

THE:

2B HT:

LIAt &21E, A
&2 El1.4305.

AEQIZ|A ARl HA:

= —
x

LIAb &2/ & &2 E1.4305.

Ot HE WItAN =XK|
M OlR2:

AEHH

[SE=R A 1= L PN =

LIAL 215, ZHAM 1|akx{Z|
M2 E E™I.

AHQIEA AR HA:

A3t ®Melzl x| g2 & Z =
LB RE 2

e

A A XHE X 2 ETE E5HAAIR
2FEAl:

QEACE AEETL IS

EH MY

EFRl A B &% 98, B3 UE 98
EfelB: &2 &% 93, M3 UE S
Efel C: &2 &% U, M2 LE 98
EfelD: M3 % o8, B2 LE 8

www.kipp.com - info@kipp.com 1/3



K2047

°
b e By ~ EE= AE]IO A AElI =Z3LA ol o I
o= SE Z3 &= AH|QI2|A AR ECIAE! of3I =F0| X
&t B
L1
A
B,
- I
| |
i
N ‘ |
h |
( | w ' swi
~ |
| | I | I | | ] SWZ
R 1
T~ 1
- 8 .
\ Ll w
| k%) | |
][04
D1 |
Z= 29
FEHS B =M A TEE MY D DI A B L L1L2L3 AE SWISW2 Fx AR Ed =2
& 23 3° EB©HH B2 E3
S F1 F2 max. Nm
o N ¢9fN
K2047.0204080 B AE 3 RAL7021 4 M8 205,344,51523,813 4 8 13 1 6 12 2
K2047.0215100 B AR S| RAL7021 5 M10 256,7 52,21728,515 5 10 17 1,3 6 12 7
K2047.0226120 B ESS ZHEM RAL7021 6 M12 30 8 6172034 17 6 12 19 1,8 8 15 15
K2047.0238160 B AE 3| RAL7021 8 M16 4010,7 81 2645323 8 16 24 23 8 19 20
K2047.0204081 B AE 73| RAL 7021 4 M8x1 20 5,3 44,51523,813 4 8 13 1 6 12 2
K2047.0215101 B AE AS|M RAL 7021 5 M10x1 256,7 52,21728,515 5 10 17 1,3 6 12 7
K2047.0226121 B AE 73| RAL 7021 6M12x1,530 8 61,720 34 17 6 12 19 18 8 15 15
K2047.0238161 B AE 73| RAL 7021 8M16x1,54010,7 81 2645,323 8 16 24 23 8 19 20
K2047.020408084 B ES=] M5 w 4 M8 205,344,51523,813 4 8 13 1 6 12 2
Z RAL 3020
K2047.021510084 B AE teEw 5 M10 256,752,21728,515 5 10 17 1,3 6 12 7
Z RAL 3020
K2047.022612084 B AE| 8w 6 M12 30 8 61,720 34 17 6 12 19 18 8 15 15
Z RAL 3020
K2047.023816084 B AE tesEw 8 M16 4010,7 81 2645,323 8 16 24 23 8 19 20
Z RAL 3020
K2047.020408184 B AE M35 w 4 M8x1 205,344,51523,813 4 8 13 1 6 12 2
Z RAL 3020
K2047.021510184 B AE tsE W 5 M10x1 25 6,7 52,21728,515 5 10 17 1,3 6 12 7
Z RAL 3020
K2047.022612184 B AEl M5 w 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
Z RAL 3020
K2047.023816184 B AEl AEE W 8M16x1,54010,7 81 2645,323 8 16 24 23 8 19 20
Z RAL 3020
K2047.1204080 B lAEﬂO._I | ZHS|MRAL7021 4 M8 205,344,51523,813 4 8 13 1 6 12 2
A AE
K2047.1215100 B |¢E+|°._I | 3 RAL7021 5 M10 256,7 52,21728,515 5 10 17 1,3 6 12 7
BlAa AE
K2047.1226120 B |¢E+I°._II 3| RAL7021 6 M12 30 8 61,720 34 17 6 12 19 1,8 8 15 15
fA AE
K2047.1238160 B fEﬂo"lé 73| RAL7021 8 M16 4010,7 81 2645,323 8 16 24 23 8 19 20
BlA AE
K2047.1204081 B =TT &M RAL 7021 4 M8x1 205,344,51523,813 4 8 13 1 6 12 2
glAa AE
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



K2047_B

°
X1 = X cc = AE]IO A AEl =EZaLAE ol i Iir
o= SEE & t= AH|Cl2|A AE ECIAE! ofdEl &FH0] X
g, BS
E52%
FEHS Ef 2 xHE LA A AL D DI A B L L1L2L3 AE SWISW2 Fx AlE Ed =g
2 23 30° EY B2 E3
S F1 F2 max. Nm
o N 29N
K2047.1215101 B AEQ] HAE[M RAL 7021 5 M10x1 25 6,7 52,21728,515 5 10 17 1,3 6 12 7
A AE]
K2047.1226121 B AEQl Z3|M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
HlA AE
K2047.1238161 B fEiIO._I | 35| RAL 7021 8M16x1,54010,7 81 2645,323 8 16 24 23 8 19 20
A AE]
K2047.120408084 B AEQl pME 5w 4 M8 205,344,51523,813 4 8 13 1 6 12 2
A AE] ZH RAL 3020
K2047.121510084 B Nz pMEE W 5 M10 256,752,21728515 5 10 17 1,3 6 12 7
A AEl ZH RAL 3020
K2047.122612084 B 2B pMEE W 6 M12 30 8 61,720 34 17 6 12 19 1,8 8 15 15
A AE] Z RAL 3020
K2047.123816084 B AEQ] AES w 8 M16 40107 81 2645323 8 16 24 2,3 8 19 20
A AE] ZH RAL 3020
K2047.120408184 B AH|Ql pMEE 4 M8x1 205,34451523,813 4 8 13 1 6 12 2
A AE] ZH RAL 3020
K2047.121510184 B AE|Ql A5 W 5 M10x1 25 6,7 52,21728,515 5 10 17 1,3 6 12 7
A AE] ZH RAL 3020
K2047.122612184 B AEQl pME S W 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
A AE] ZH RAL 3020
K2047.123816184 B AE|Q] XS 8M16x1,54010,7 81 2645323 8 16 24 2,3 8 19 20
A AE] ZH RAL 3020

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



